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PART A: Grammar and Vocabulary
Directions: Questions 31- 41 are incomplete sentences. Beneath each sentence you will see four words

or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the

-Ys

=Yy

-YA

¥4

_"'o

32-

33-

35-

sentence. Then mark your answer sheet.

Zahra: Is there ............ place in this village?

Hadis: ............ .

1) a quiet / Yes, there is 2) an pleasant / No, they are
3) an quiet / No, it isn’t 4) a pleasant / Yes, there’s
Vahid: What is your cousin ............ ?

Mabhdi: He is ............ great! He is hard-working ............ .

Vahid: Oh, I see.

1) like / really / too 2) like / a bit / too

3) love / quiet / also 4) love / very / also
Teacher: Which of the following sentences is NOT correct?

Student: ............ .

1) I and my wife are visiting Tehran for three days.

2) You can write some words related to personality and travel.
3) I have a lot of friends.

4) I guess my brother is praying now.

Farzad: Who can ............ sentences with falling and rising ............ ?

Leila: I ............ my brother can.

1) underline / explanations / think 2) produce / intonations / guess
3) change / attentions / think 4) follow / intonations / guess
Parisa: My brother cut his finger. Does anyone have ............ ?

Sara: I have one. Just a ............ |

1) bruises / trip / Take it. 2) gift / moment / Receive it.
3) a plaster / second / Here you are. 4) a cast / match / Well done!
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36- Which of the underlined words is NOT correct?

Student 1: Who did receive the letters from the postman yesterday morning?
Student 2: I don’t know.

1) did receive 2) from 3) morning 4) don’t
37- Ali: Which sentence has a falling intonation?

Amin: ............

1) Do you buy new clothes? 2) Are you traveling to Shiraz?

3) Is he searching a hotel? 4) How old are you?
38- Navid: Why did they ............ an accident?

Nima: they fast.

1) had / Because / drive 2) have / before / drove

3) have / Because / drove 4) had / when / drive

39- Which of the underlined words is NOT grammatically correct?
He hurts his leg when he was playing in the vard?

1) hurts 2) leg 3) playing 4) in the yard
40- Amin: Is your friend selfish?

Ahmad: Yes, he is ............ very and .

1) too / kind / patient 2) so / brave / generous

3) also / rude / cruel 4) too / careless / helpful
41- Tourist: My name is Tom Smith. I have a ............ here.

Receptionist: ............ Are you staying here for two nights?

Tourist: Yes, my wife and I ............ Shiraz for two days.

1) intonation / Thank you. / is visiting 2) reservation / I see! / are visiting

3) conversation / Of course, / visit 4) attention / I see! / am visiting

PART B: Cloze test

Directions: Questions 42 & 43 are related to the following passage. Read the passage and decide which
choice, (1), (2), (3), or (4), best fits each space. Then mark your answer sheet.

I am writing this email with my tablet. I just learned how to use it. Last week our neighbor ...(42)... us to a
village near a river. It was a nice and quiet place. There were tall trees and beautiful flowers. The sky was blue
and clean. The water of the river was clean and cool. We did not use our computers and mobiles a lot; But we
were very happy. We played ...(43)... all day.

42- 1) installed 2) invited 3) followed 4) burned
43- 1) many 2) lots of 3) alot of 4) a lot

PART C: Reading Comprehension

Directions: In this part of the test, you will read a passage. The passage is followed by two question.
Answer the question by choosing the best choice, (1), (2), (3), or (4). Then mark your answer sheet.

This is Paul. He is a tourist from Germany. He came to Iran with his wife two days ago. They want to
stay in Iran for two months and visit many cities of Iran. They want to visit Isfahan, Shiraz, Yazd, Tabriz
and some other cities. They go to a gift shop in every city and try to buy some gifts for their son and
daughters. Their daughters live in Spain now; But their son lives in Germany.

44- Can you guess how many sons and daughter does Paul have?

He has .............

1) two daughters but no son! 2) one son and two daughters.

3) two sons and three daughters. 4) two sons and one daughter.
45- Where is Paul from?

He is .....ccueee..

1) With Germany 2) from Spain

3) from Germany 4) Spanish
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